ЛГР № 1 (2 курс 4 семестр) Маслова

I. Выберите правильный вариант перевода:

1)
привести к нарушению
a) to result in impairment
b) to result from impairment
c) to cause the improvement
2)
потеря веса
a) change of weight

b) loss of weight

c) excess of weight
3)
последующее обследование
a) subsequent examination
b) inadequate examination
c) simultaneous examination
4)
вовлекать (поражать) органы
a) to influence organs
b) to improve organs

c) involve organs
5)
сопровождаться эрозией
a) to follow erosion

b) to be followed by erosion
c) erosion follows
II. Подберите пары синонимов:

1) preventive

2) entire


3) rise
a) whole


b) prophylactic

c) elevate
III. Подберите пары антонимов:

1) dry



2) sharp

3) natural
a) moderate


b) artificial

c) moist
IV. Выберите соответствующую форму сказуемого:

1) He … well before the surgeon came.

а) had slept

b) sleeps

c) will have slept
2) We … our observations on the changes in the blood erythrocytes by tomorrow.

a) will complete

b) will be completed

c) will have completed
3)
Patient Ivanov … already.

a) has been operated on

b) has operated on

c) had operated on
4)
The important findings … by the investigator yesterday.
a) are obtained

b) obtained

c) were obtained

5)
I … for the findings of my blood analysis for an hour.

a) have been waiting

b) am waiting

c)have waited

V. Выберите правильный вариант перевода предложений:

1)
The patient must have been examined by the professor.

a) Этот пациент, должно быть, уже обследован профессором.

b) Этого пациента должен обследовать профессор.

c) Этот пациент должен был быть обследованным профессором.

2)
The patient cannot have fallen asleep after taking this medicine.

a) Пациент не мог уснуть после принятия этого лекарства.

b) Не может быть, чтобы пациент уснул после принятия этого лекарства.

c) Пациент не может заснуть после принятия этого лекарства.
3)
His constant tiredness may have impaired his health.
a) Его постоянное утомление, возможно, ухудшило его здоровье.

б) Его постоянное утомление может ухудшить его здоровье.

с) Его постоянное утомление могло ухудшить его здоровье.

VI. Выберите правильный перевод слов, данных в скобках:

1)
Have you discovered (что-либо) new during the experiment?
a) anything

b) something

c) nothing
2)
(Каждый) should remember that bacteria are dangerous.

a) everything

b) everyone

c) nobody
3)
(Кто-то) has estimated that we breathe 25920 times a day.

a) somebody

b) something

c) anybody
VII. Замените модальные глаголы их эквивалентами:
1)
The nurse must feed the infant.

a) has to

b) have to

c) is allowed to

d) is able to
2)
The patient could fall asleep after the injection.

a) was able

b) was allowed to

c) is able

d) is allowed

3)
The doctor says that this patient may walk.

a) is able to

b) is allowed to

c) has to

d) are able to

VIII. Выберите соответствующий предлог:
1)
The patient complained of a general malaise … exertion.
a) on


b) by


c) in


d) of

2)
The operation … the heart is preceded by various examinations.

a) on


b) in


c) at


d) to

3)
An irregular diet and an emotional overstrain contribute … the onset of ulcers.

a) to


b) for


c) in


d) by

4)
The tenderness is felt in this part of the abdomen … palpation.

a) by


b) in


c) on


d) at
IX. Вставьте необходимые парные союзы:
1)
(И) the therapeutist (и) the surgeon decided to treat the patient at home.
a) both … and

b) either … or

c) neither … nor

2)
The patient could (ни) sit up (ни) move.

a) both … and

b) either … or

c) neither … nor

3)
You may take this medicine (или) before (или) after meals.

a) both … and

b) either … or

c) neither … nor

X. Выберите правильный вариант перевода предложений, обращая внимание на конструкцию «сложное дополнение»:

1.
The students watched the nurse give an injection.

а) Студенты наблюдали, как медсестра делает укол.

b) Студенты наблюдали за медсестрой, делающей укол.

c) Студенты наблюдали, как медсестре следует делать укол.

2.
The X-ray examination confirmed the patient to have organic changes in the mitral valve.

a) Рентгеновское исследование подтвердило, что у пациента имеются органические изменения в митральном клапане.
b) Рентгеновское исследование подтвердило, что у пациента были органические изменения в митральном клапане.
c) Рентгеновское исследование подтвердило пациента с органическими изменениями в митральном клапане.
3.
The physician determined the primary focus of infection to have been eliminated.

a) Врач установил, что первичный очаг инфекции должен быть устранен.
b) Врач установил, что первичный очаг инфекции будет устранен.
с) Врач установил, что первичный очаг инфекции устранен.
XI. Выберите правильный вариант перевода предложений, обращая внимание на конструкцию «сложное подлежащее»:

1.
Известно, что желтуха присутствует при заболеваниях печени.
а) It is known that jaundice is present in the diseases of liver.
b) Jaundice is known to be present in the diseases of liver.
c) They know that jaundice is present in the diseases of liver.
2.
Предполагают, что слишком горячая пища способствует развитию гастрита.
a) They suppose that too hot food contributes to the development of gastritis.

b) It is supposed that too hot food contributes to the development of gastritis.

c) Too hot food is supposed to contribute to the development of gastritis.

3.
Полагали, что у пациента развилась анемия вследствие обильного кровотечения.

a) The patient was considered to have developed anaemia due to profuse bleeding.

b) It was considered that the patient had developed anaemia due to profuse bleeding.

c) The doctor considered that the patient had developed anaemia due to profuse bleeding.

XII. Выберите правильный вариант перевода предложений, обращая внимание на конструкцию «самостоятельный причастный оборот»:

1.
The digestion being considerably impaired, the patient complained of pains.
а) Так как пищеварение было значительно нарушено, пациент жаловался на боли.

б) Пациент со значительными нарушениями пищеварения жаловался на боли.

с) Пищеварение было значительно нарушено, пациент жаловался на боли.

2.
The retention of stool being noted, the patient was administered a light diet.

a) Была отмечена задержка стула, пациенту была назначена легкая диета.
b) Пациенту с задержкой стула была назначена легкая диета.
c) Так как была отмечена задержка стула, пациенту была назначена легкая диета.

3.
The patient developed severe haemorrhage, it being caused by ulcer.
a) У пациента развилось сильное кровотечение, при этом оно было вызвано язвой.
b) Так как у пациента развилось сильное кровотечение, оно было вызвано язвой.
c) У пациента развилось сильное кровотечение, вызванное язвой.
XIII. Выберите соответствующую форму сказуемого, обращая внимание на условные предложения и сослагательное наклонение:
1.
It is important that all surgical instruments … sterilized adequately.

a) be



b) are




c) will be

2.
If the man is operated on for appendicitis he … local anaesthesia.

a) was given


b) would be given


c) is given

3.
I wish he … at the operation.
a) were present

b) was present


c) presented

4.
Injections of antibiotics … regularly lest the disease progressed.

a) should be given

b) are given



c) will be given

5.
Had obstruction not been controlled, the patient … an emergency operation.

a) would undergo

b) would have undergone
c) will undergo
XIV. Переведите слова, данные в скобках:
1) Partial arrest of blood circulation often results in (повреждение) to brain cells.
2) On palpation the doctor (определил) that the liver was enlarged.

3) Heart defects (приводят) the impairment of heart functions.

4) Physical (перенапряжение) increases the incidence of heart attacks.
5) During the examination a benign tumour (была выявлена) in the lungs.
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